*

FL

142 2000 pt 5247 1720 pt

¢
n
i

2f7=%5341 1460 pt

H1 H2

H11 B3 EA | 890 |2 LZYFT0O8H 1] @ 3 | 700 |2 s | & BA | 535 |2

2—1 wORX 12.35 |1 <HF> 2-1 B EA 12.75 |1 H“‘ ®EX 8.35 |1
‘QF%L %SMHTQON H2 H3 H4

1-1 NI BA 6.10 |2 3—1 bESUNIN | 435 |2 1-2 HA Z 8.00 |2 3-2 B &x 790 |2

H 2-2| @ F3 | 11.00 |1 H 2| BE EA 8.35 |1 H 2-1 & X 10.60 |1 H 41 HOEX 9.00 |1
‘RS felivg %9{1H11000 pt  4fr=%134z 900 pt » " »

=1 B 8.65 |2 51 NP EmR 8.00 |4 1-2 i 6.95 |4 52 BN B 395 |4

H 2-1 [ NI EX | 925 |1 H 61| Jim A% | 810 |3 H 22| D RH | 925 |1 H 6-2 M RX 10.95 |1

3-2 BiEE B4 740 |3 7-2 F X 950 |1 3—1 B &x 875 |2 71 B EA 1025 |2

H“ A B | 670 |4 Hsz WE E3 | 910 |2 H“‘ PR BA | 830 |3 Hs1 B 6.25 |3
‘Rz 36z %17& 1800 pt  4kr=%25%1 720 pt » " »

=1 HEIE B 8.65 |2 5—1 NI BA 11.25 |1 9-1 B &x 1250 |1 13—1 At BEK 9.25 |1

H21 PESURE RPN 550 |3 H61 bESUNIN | 6.55 |2 H101 Bl Ak 445 |3 H141 AR 6.85 |2

3-2 ER ME 475 |4 7-2 st NS 655 |3 -2 EBEFEH BE4 575 |2 156-2 FeEH i 560 |3

H42 He # 955 |1 H82 BIS Bt 3.10 |4 Hmz Ei P NI 425 |4 Hmz AH B= 380 |4
H5 H6 H7 HS

1-2 B B 6.10 |2 52 R FiliE 735 |3 9-2 R RE 545 |4 13-2| Al FEfT 8.10 |3

H22 BRI ER 595 |3 H62 Y 520 |4 Hmz =l BA 6.75 |3 Hmz Id &X 750 |4

3-1 NP EmR 6.65 |1 71 JIE K& 9.75 |1 111 BHE EA 10.15 |1 16—1 FARE E3t 840 |2

H‘” =2 BE 500 |4 Hg‘ HOEX 8.65 |2 H121 & X 975 |2 H161 H 11.40 |1
‘R1 Kiiva %33{5‘ 1650 pt  4Lr=%49141 543 pt s s »

HEIE B 11.75 |1 Sy—f R OESL 850 |2 NP BER 1415 |1 H Z 545 |2

H W &= | 925 |3 H B A | 1325 |1 H ER s | 735 |2 H i BE | 926 |1

B 8 1.00 |4 HE HE 490 |4 WE BN 570 |3 xE % 420 |3

HTH B B 940 |2 H FLE =EE 595 |3 HT12 = BE 475 |4 Hsv—r“ PR s 390 |4
H5 H6 H7 HS

NI BA 7.25 |1 bESUNIN | 6.70 |1 & =E 6.90 |2 ®OEX 8.00 |1

H FiH K& 465 |4 Hsv—r“ M B 525 |3 H SH B 360 |3 H FEH gs 270 |4

s FlE 6.40 |2 aE 6.60 |2 JIlE K& 8.00 |1 EE Eh 580 |2

T2-1 MTF &KX 525 |3 H Bt 17 475 |4 H = BA 250 |4 Hrzz F W 540 |3
HO H10 H11 H12

B &x 1350 |1 HL # 645 |3 B3 EA 11.85 |1 F X 7.75 |1

H PR EE | 675 |2 H BiE A | 685 |2 H SHEE BEE | 695 |2 H $HA K# | 625 |2

B BH3A 3.10 |4 Bl Ak 6.85 |1 A M 545 |3 g B 420 |4

T3-1 A BE 440 |3 H aE & 385 |4 HTM hnikE $HAREB 480 |4 H ge B 550 |3
H13 H14 H15 H16

At BRI 11.75 |1 NI =T 9.25 |3 FeE Al 990 |2 B # 1090 |1

H Rl 1T 11.10 |2 H AT 1160 [1 H AR Zab 11.75 |1 H AR E= 875 |2

BEIR @4 10.15 |3 b &KX 935 |2 e EfT 585 |4 Bl 750 |3

HTM BE 895 |4 Hsv—ﬁ ERX 28 400 |4 H KH #R&E 860 |3 Hmz A A 6.65 |4




‘FI_ 147 2000 pt  FE247 1720 pt  FE34L 1460 pt  F44r 1340 pt
1| kB BmETF | 600 |3 LTHFTOHE
sz A0 KER | 900 |2 <EF>
1-2 Bk =& 580 |4
H 2-1 ER = 11.60 |1
‘SF SL\L—%SMH?ZO pt  4Lr=%741 1110 pt »
1-1 HE =R 535 |3 1-2 HE %I 6.00 |3
H 21| KE BEEF 6.50 |1 H 22| BE HEF 495 |4
3-2 R Rk 520 |4 -1 | A0 KExE 6.60 |2
H 4-2 Bk =& 6.40 |2 H 4-1 ER = 850 |1
‘QFSL\L % 9&11000 pt  4fr=%134z 900 pt » " w
11 A EHX 8.05 |1 5—1 BrE FEF 560 |2 12| A0 KEX 7.35 |1 5—2 E T 405 |3
H21 Pk HPE 525 |4 He1 KB EEF | 750 |1 H22 ER #MF 395 |3 H62 BE EMm 360 |4
3-2 HER &I 790 |2 72| #0O BFF 400 |4 3—1 BEE MES 280 |4 7-1 Bk EE 725 |2
H42 IR BX 645 |3 H82 =ik HkF 550 |3 HM R Rk 555 |2 Hg‘ ER = 840 |1
‘R1 36z %1731800 pt  4kr=%25%1 720 pt » " w
A0 #B%E | 525 |2 KT BES 400 |3 HE 2T 450 |2 RERT Rk 775 |1
H RE EW | 650 |1 H L@ fF | 415 |2 H B EWE | 400 |3 H M = | 660 |3
AHB A 355 |3 ss—k Il BEEF 1.00 [4 BEA & 340 |4 IR Bx 760 |2
Hﬂz e = 350 |4 HTH Rk HpE 425 |1 HTN BEE MES 725 |1 Hmz TN T 235 |4
H5 H6 H7 H8
H A e | 250 |3 H KH BmEF | 935 |1 H M @ | 410 |3 BE =W | 925 |1
A #F 385 |2 T RF 510 |3 —/# sy | 320 |4 HE EFHR | 370 |4
BE FETF | 470 |1 Wl =&F 265 |4 #0O BEFF | 520 |2 =R HkE 570 |2
HT31 AR & 215 |4 HTsz FR EmM 6.40 |2 HTM Bk £F 6.10 |1 Hmz R & 470 |3




